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Practice Questions 

1. A current splits into two branches. I 1 = 10.0 A.











a) Is I2 or I3 bigger ?   [1] [Basic]

b) Determine the amount of current in I2 and I3. Show clearly your working. [Basic] [1]



c) Hence, calculate the current I4. [1] [Basic]

2. A current splits into two branches. I 1 = 12.0 A.











a) Is I2 or I3 bigger ?   [1] [Basic]



b) Determine the amount of current in I2 and I3. Show clearly your working. [Level 2] [2]




c) Hence, calculate the current I4. [1] [Basic]





d) Calculate the potential difference across the 150 ( resistor ? [1] [ Basic]

e) What is the potential difference across the 300 ( resistor ? [1] [ Basic]



f) Calculate the effective resistance of the two resistor in parallel. [1] [ Basic]





3. 








a) Calculate the effective resistance of the two parallel resistors. [2] [Basic]



b) Hence , calculate I 5 . [1] [Basic]




c) Calculate I2. [1] [ Level 2]

d) A additional resistor is added as shown. How does this affect I1, I2 , I3 and I5 ? [4] [Basic]

4. A lamp is controlled by a variable resistor. 
a) Explain fully how and why the variable control the lamp’s brightness . [Basic] [3]



b) When the variable resistor is set at 200 (, calculate the current through lamp. Assume lamp has 100 ( at that time. [2] [ Basic]


c) The variable resistor has a maximum resistance of 10 000 (. Why doesn’t the lamp brighten up when the variable resistor (rheostat) is set to maximum ? [1] [Level 2]
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Solution 
1. a) I2 = I3 
b) I2 + I3 = I1 = I4 = 10.0 A
I2 = 12.0 A / 2 = 5.0 A.
I3 = 5.0 A

c) I4 = I2 + I3 = 6.0 + 6.0 = 10.0 A

2. a) I2 > I3 . In fact , I2 = 2 x I3
b) 
I 2 + I 3 = I1 = 12.0 A ---------- (1)
I2 (150 () = I3 (300 () --------- (2) [ voltage in parallel branches are equal ]

I 2 = 8.00 A ; I3 = 4.00 A. 
c) I4 = 4.00 A + 8.00 A = 12.0 A
d) p.d. across 150 ( resistor = V = IR = 8 A x 150 ( = 1200 V
e) p.d. across 300 ( resistor = 1200 V [ voltage in parallel branches are equal ]
f) 1/RT =  1/150   +      1/300 
RT =  100 (
3. a) 1/RT =  1/2   +      ¼
RT =  1.33 (
b) I5 = V/R = 12 V / 1.33 ( = 9.00 A
c) I2 + I3 = 9.00 A ----------- (1)
I2 (4 () = I3 (2() -------------- (2)
therefore , I2 = 3.00 A, I 3 = 6.00 A
d) I2 and I3 remains the same . I1 and I5 increases. 
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